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ke RE ST NS 30,412,701 26,386,949 4,025,752
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Xl 6,829,830 6,008,830 821,000
J| 325,920 53,120 272,800
< 4,599,084 4,467,084 132,000
s 16,788,467 13,877,515 2,910,952
22 RENY Mot st 10,727,114 9,094,314 1,632,800
= 0 200,000 200,000
Xl 2,834,000 2,834,000 0
J| 161,920 9,120 162,800
< 2,607,750 2,607,750 0
s 5,123,444 3,443,444 1,680,000
22 2ot0|8 &= 10,727,114 9,094,314 1,632,800
= 0 200,000 200,000
Xl 2,834,000 2,834,000 0
J| 161,920 9,120 152,800
< 2,607,750 2,607,750 0
s 5,123,444 3,443,444 1,680,000
o2 ZHEMN SH(EX) 50,680 47,880 2,800
J| 11,920 9,120 2,800
< 7,750 7,750 0
s 31,010 31,010 0
301 LB A F 50,680 47,880 2,800
J| 11,920 9,120 2,800
< 7,750 7,750 0
s 31,010 31,010 0
NJIEEd=s 50,680 47,880 2,800
O2stAZol&A 2E X 50,680 47,880 2,800
J| 11,920 9,120 2,800
=) 7,750 7,750 0
= 31,010 31,010 0
E22X S4d MY 1,923,000 1,253,000 670,000
=) 1,250,000 1,250,000 0
= 673,000 3,000 670,000
401 A& HIZ 201 Y] 1,010,000 340,000 670,000
=) 340,000 340,000 0
T 670,000 0 670,000
01 A& HI 1,007,552 337,552 670,000
OYANXIEZ=H HOSE =3&X & F&2X
= 100,000 0 100,000
OYAXZHOIIIZ XNEEE =ZANE 22
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OxU=sZH FZ2 5= 720 360 360
g8 HZ2FRAY ZEAY 7,626,000 6,600,000 1,026,000
Xl 2,600,000 2,600,000 0
< 1,350,000 1,350,000 0
= 3,676,000 2,650,000 1,026,000
201 L Er2 A | 26,000 0 26,000
01 At22t2l bl 26,000 0 26,000
O&&Z HZFXY ZHAY RS 26,000 0 26,000
401 AIEHI L 2 CHYI 7,600,000 6,600,000 1,000,000
Xl 2,600,000 2,600,000 0
= 1,350,000 1,350,000 0
s 3,650,000 2,650,000 1,000,000
01 A& HI 7,600,000 6,600,000 1,000,000
o8& HZ2ZRAY ZdA EX01 2,400,000 1,400,000 1,000,000
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= 0 200,000 200,000
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2 1,922,872 1,784, 125 138,747
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2 209,000 200,000 9,000
X 80,000 80,000 0
| 164,000 44,000 120,000
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OYMAHBHSSH KA X 15,000 5,000 10,000
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= 9,000 0 9,000
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< 8,000 0 8,000
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= 627,579 577,579 50,000
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=) 150,000 150,000 0
s 150,000 150,000 0
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07 IXNSHH AR S = 10,000 0 10,000
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401 A& HIZ 201 Y] 100,000 0 100,000
=) 50,000 0 50,000
s 50,000 0 50,000
01 A& HI 100,000 0 100,000
ONSAE HYAIE X 100,000 0 100,000
< 50,000 0 50,000
i 50,000 0 50,000
LYAUX ALY FHALF 10,656,554 8,674,554 1,982,000
= 530,000 450,000 80,000
Xl 2,590,830 1,769,830 821,000
< 706,017 636,017 70,000
[ia 6,829,707 5,818,707 1,011,000
=018 Mek2st 6,008,554 4,026,554 1,982,000
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Xl 1,890,830 1,069,830 821,000
= 706,017 636,017 70,000
s 2,881,707 1,870,707 1,011,000
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307 21201 A 141,400 51,400 90,000
02 YAFAAFEX 141,400 51,400 90,000
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401 NEHIL 2 THYI 799,428 699,428 100,000
X 240,000 240,000 0
= 18,000 18,000 0
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01 Al&t bl 780,000 680,000 100,000
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X 240,000 240,000 0
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2 522,000 422,000 100,000
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2 225,000 415,000 190,000
2 225,000 415,000 £190,000
02 IABMANSEE 450,000 830,000 380,000
OYANKIE 6XHARISE KITESAY
450,000,000 #1441 450,000 830,000 380,000
2 225,000 415,000 190,000
2 225,000 415,000 190,000
401 N EHIL2THEI 0 70,000 A70,000
2 0 35,000 35,000
2 0 35,000 35,000
01 Al bl 0 70,000 A70,000
OYANKI X 6XHAI S N DZAAY  0R+14 0 70,000 A70,000
2 0 35,000 35,000
2 0 35,000 35,000
6RAIY M) BHSTEH X4 1,642,000 0 1,642,000
X 821,000 0 821,000
2 821,000 0 821,000
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X 821,000 0 821,000
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01 Al& bl 1,642,000 0 1,642,000
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OYANIZEH EHOIZY 2aF ¢ X
= 0 100,000 2100, 000
EA2RE Y SHAI2SEE 1,845,456 1,840,251 5,205
= 4,000 4,000 0
Xl 500,000 500,000 0
=) 47,664 47,664 0
e 1,293,792 1,288,587 5,205
CHA2 S 1,845,456 1,840,251 5,205
= 4,000 4,000 0
Xl 500,000 500,000 0
=) 47,664 47,664 0
i 1,293,792 1,288,587 5,205
S 222 159,531 165,531 4,000
201 Let24E] 96,320 92,320 4,000
01 At 22l 25,580 21,580 4,000
Ogza 2355 N2 &3
4,000,000& =14 4,000 0 4,000
22 23d X3 142,925 141,720 1,205
& 46,464 46,464 0
s 96,461 95,256 1,205
101 14 Hl 95,585 89,160 6,425
< 28,062 26,496 1,566
s 67,523 62,664 4,859
04 JIZHHZ22XREE S 95,585 89,160 6,425
ONSTHD 4ULE2 JIB22YD
145,000& » 128 *30 & 5,220 0 5,220
=) 1,566 0 1,566
s 3,654 0 3,654
OXBE M2 AdAH-BIL(OsUS) 27,125 25,920 1,205
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